DiffEq - Ch 4 - Required Practice ANSWERS ONLY
4.1 143
| R (_lxj
#1. y=5¢ -3¢ #1. y=C +Ce *
#2. y=3x—4xlnx #2. y=Ce™ +Cpxe™
59, 0
#3. Not linearly independent. #3. y=Ce +C,e
#4. Not linearly independent. #4. y=C cos3x+C,sin3x
#5. Are linearly ind dent. .
e meary Tdependen #5. y=Ce* cosx+C,e* sinx
#6. y=Ce> +Ce™ ( 1 J 7 ( 1 j B
2 2
Cy=Ce'’ N2 x|+t P sin| X2
#7. y=Ce" cos2x+C,e"sin2x #o. y=Ce COS( 3 xJ 2¢ Sm( 3 xJ
_ 3 4
8. =G +Cox #7. y=Ce " +Ce™ +Cyxe™
#8. y=Ce " +Cxe ™ +Cyx’e™
#9 y _(_lejex +(leij85x
U3 3
4.2
or y= _le(lfx) N le(fs+5x)
#1. y, =xe™ 3
#2. y, =sindx #10. y=0 (the x— axis is the solution)
2 5 5 1
#3. v :xe[3 ) #11. = 4| = e—6x+ - xe—6x
: Y736 (36 6
#4. y,=x"In|x]
#5. y,=-1-In(x)



4.4 |47
#1. y=Ce ™ +Cye ™ +3 #1. y=Cx ' +C,x°
_ -1 -3
#2. y=Ce* +Cyxe™ +gx+% #2. y=Cx +Cyx
8. y=Ca o)
#3. y=Ce " +Cxe ™ +x’ —4x—4 : 2
5 1 5
#4. #4. y=C+Cx’ +—x"In|x|
5
y=C, COS(\/§X)+ C, sin(\/gx)—4xze3" +hxe 2o
3 #5. y=Cx " +C,x’
1
#5. y=Ce ™ +Ce™ +—xe*
Y=t 26 Ty e #6. y=Cx'+Cyx"* +Lx2
30
. 1. 1,
#6. y=C,cosx+C, smx+5xsmx—5x COS X
(5 s
#7. y=-200+200e" >’ —3x* +30x
| 4.6 (we skip 4.5)
#1. y=C,cosx+C, sinx+1n|cosx|cosx+xsinx
#2.

. 1 I . I .
y=C, cosx+C, smx+Excos—zsm(Zx)cosx+Esm3 x

#3.

#4.

#5.

X —3x 1 —3x 3 —3x
y=Ce*+Cye” —er3 -=x’e”

y=Ce*+Ce ™ +e™* ln‘l +eé

+e ln‘lJrex

1

1 1 1
y= Cle(zx] + Cze[f) + %xze(zxj 411 bx]



DiffEq Ch4 Test Review

#l. y,=e "
&

#3. Are linearly independent.

#2. ), =Xxe

#4. Not linearly independent.

(1B, (1)

#5. y=Cie +C,e

#6.
1 1
yzCle[ ? jcos ﬁx +C2e( ? jsin ﬁx
2 2
#7. y=Ce ™ +C,e” +Cyxe™
) 3
#8. ¥=C,cos2x+C, s1n2x—zxc052x

1 1 9
=4e™ -3xe " +—x"——x——
. 8 8 o4

—4axX 1 X
#10. y=Ce*" +Ce™ +er4

e o5 3, 5.
#11. y=Ce +Ce" ——xe " —=xe”
4 4
#12.
y=C,cosx+C,sinx— +tan xsin x

2Ccosx
1

- 1
=Cx2+Cx'+—x*——x
#13. YV 1 2 15 6

1
#14. y=C, +C3)c5 +§x5 ln|x|



